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Gradient of a Line

1. Find the gradients of the line shown K
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2. Find the gradients of the lines shown G
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3.0 Which of the lines shown in this diagram have a positive
gradient?
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3.b Which of the lines have a negative gradient?

3.c Find the gradients of each line.
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Gradient of a Line

Answers
1. Find the gradients of the line shown K
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2. Find the gradients of the lines shown G
AB=1:CD=2;EF =4 > /
n
; /
X /
i C E
0
01 2 3456 78 910 |x

3.0 Which of the lines shown in this diagram have a positive
gradient?  AB, CD, KL, GH
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3.b Which of the lines have a negative gradient? EF, IJ

3.c Find the gradients of each line.




